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1. AT
(1) #FIET
AT 2V 1.000
ary s y—rL (KiE) ng;go W/C=60% m3 254. 500
ar 7 y— L (FE5) BB18-8-40 W/C=60% m3 15. 100
BT (BILA A1) RE - s nf 131. 200
2Ly U— R Ear s ) —}) 0 we=oo n3 1..800
AR RFRAF R T ot 85. 200
IR T (BUKES) — R ot 3. 400
PR () Zgg%izolnm 5. Smm % N 3.000
AT HE B 855 kA ¢ 22mm SD345 EN 194. 000
RIPET. (RES) — R i 52. 500
AL (t=15cm) H|ZE475-15cm, 18-8-25BB m 52. 500
F—AL T L— b (TM=DMRA L) ?%>($ﬁf%0%n%§%é30cmx 54 1..000
H Hibk VB MEAEEL H HBR £=10mm o 21. 800
RS (Rrybyr-)) m 101. 600
LKA & (CCTY ME300mm /& 7mm) m 7.100
b — R i 21.800
R ?g%fm%g?gimﬁﬂzoomm i 1. 000
B AT v (& 30. 000
+T X 1. 000
HEA AR 1 gﬁég?ﬁﬁ” - B m3 149. 000
Bt é.;éiiﬁ%%@%@ 3 149. 000
E AR (BEPR) #aE(1)B m3 113. 000
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R 6 Gk EIRRIL REHRFA BRETE GHOFRERE) (BEARE )

TFE - AR - Biks HAL $oR i &
B Jb— IR RE DA m3 113. 000
ARIRA IR - SRS EREE T m 67. 100
b H IR BE+ ot 19. 300
BTN Ty o L=10. 4km m3 150. 000
B ALy E m3 150. 000
R T (fHEK) F20 1. 000
218 =INN B B ot 2.300
S A (3 - i IR =T LR m 30. 000
ik L X 1. 000
ABUAES - AT R I - 5 L (8 L) I ton 2. 800
ABUAES - AT R I - 5 1 (8 L) EIES ton 2. 800
BERAERE - BT AR ot 23. 200
BERAERE - BT iGN nf 23. 200
(RREETRAGA + T e ton 7. 400
AN %) SRR 7X 100X 100 kg 117. 700
HIES (L& 41) 300 [EH] PREERE 327.500
BBk ER 25mm X 1524mm X 3048mm Kttt A 600. 000
IR ER V¥~ GHl fEfH B 4, 560. 000
IR ER U¥~voPHl fEfLH B 1, 920. 000
IR ER V¥~ XA fE L B 480. 000
SIREA L =X 1. 000
AX {ERE e 16em EN 1. 000
AX {ERE e 28cm EN 2. 000
AX A e 30cm EN 2. 000
AX {ERE e 32em EN 1. 000
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TFE - FER - AR Biks HAL £ i &
2% RERE MmE R 36cm EN 3. 000
A AR B 44em EN 2. 000
A AR AR 46em EN 1. 000
A AR A 48em KN 1. 000
A AR A 64cm EN 1. 000
Z7 Ty riE (R F v ) L=13. Okm m3 5. 000
TRBRAL ) 2 FRAK ton 4. 500
R
1. i
(1) EREHE
e =X 1. 000
gk A v =L D% A 7.000
Zet
1. 2R
(1) %48
LR =X 1. 000
NEFEXE E-= 1. 000
B FHE X 1. 000
—EE LA
1. I HTEER
(1) 3o bratsr
3 AR =X 1. 000
T3 MR %W%%%’ ﬁg =X 1. 000
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